
C
O
M
P
O
N
E
N
T
S

125

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

OVERVIEW CLACK VALVES

CLACK CI 

• No exclusivity

• No personalization

• Standard screen

• Salt alarm: enter manually when filling the 

brine tank 

CLACK EI

• No exclusivity

• Personalization available

• LCD screen with 5 digits

• Salt alarm: enter manually when filling the 

brine tank

PALLAS CK

• PWG exclusivity

• Pallas CK label or personalised 

• multi-colour screen

• DiRerent languages

• Programmable name + phone number 

• Maintenance alarm

• Proportional brining

• Salt alarm: enter manually when filling the 

brine tank

• 2 MAV drive outputs

• Programmable relay

IMPRESSION 
TOTALCARE 

• Customer exclusivity, please contact us

• Personalization available

• LCD backlight screen

• Proportional brining

IMPRESSION PLUS 
TOTALCARE PLUS

• Customer exclusivity, please contact us

• Personalization available

• Dot matrix screen - Backlight

• DiRerent languages

• Programmable name + phone number 

• Maintenance alarm

• Proportional brining

• View savings energy and salt

• 2 MAV drive outputs

• Express history recall

• Programmable relay

IMPRESSION PRO 
TOTALCARE PRO

• Customer exclusivity, please contact us

• Personalization available

• Dot matrix screen - multi-colour

• DiRerent languages

• Programmable name + phone number 

• Maintenance alarm

• Proportional brining

• Automatic salt alarm with 

chlorinator

• View savings energy and salt

• 2 MAV drive outputs

• Express history recall

• Programmable relay



C
O
M
P
O
N
E
N
T
S

126

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

CLACK WS1CI 1”

Reference Code Description €

Clack WS1CI - 1”

5302034059 V1CIDTE-M03* Clack WS1CI - Chronometric - Downflow - With mixing 

5302034069 V1CIDME-M03* Clack WS1CI - Volumetric - Downflow - With mixing (injector E)

5302031520 V1CIDMC-M03* Clack WS1CI - Volumetric - Downflow - With mixing (injector C)

5302034071 V1CIUME-M03* Clack WS1CI - Volumetric - Upflow - With mixing

5302031463 V1CIDTE-03* Clack WS1CI - Chronometric - Downflow - Without mixing

5302031464 V1CIDME-03* Clack WS1CI - Volumetric - Downflow - Without mixing (injector E) 

5302035211 V1CIBTZ-03* Clack WS1CI - Filter - Without mixing

* With connections, DLFC, transformer and top distributor

Clack WS1TC - 1”                                                                                                                                                                     

5302034054 V1TCDTE-M03* Clack WS1TC - Chronometric - Downflow - With mixing

5302035142 V1TCBTZ-03* Clack WS1TC - Filter - Without  mixing

CLACK WS1EI 1”

Reference Code Description €

Clack WS1EI - 1”

5302034327 V1EIDTE-M03* Clack WS1EI - Chronometric - Downflow - With mixing 

5302034328 V1EIDME-M03* Clack WS1EI - Volumetric - Downflow - With mixing (injector E)

5302034325 V1EIDTE-03* Clack WS1EI - Chronometric - Downflow - Without mixing

5302034326 V1EIDME-03* Clack WS1EI - Volumetric - Downflow - Without mixing (injector E) 

5302034907 V1EIBTZ-03* Clack WS1EI - Filter - Without  mixing

* With connections, DLFC, transformer and top distributor

The price of the KIT Clack # 1 is no longer included in the price of the valve

If you do not need the KIT, please specify this on your order

Reference Code Description

Kit for Clack WS1 valve 

0401998252 KIT Clack # 1 Riser tube + Bottom distributor (140cm)

Air Check 500A 915 Mm (36")

WS1 Nut 3/4” drain elbow for 5/8 x 1/2 Poly

Insert Polytube 5/8”



C
O
M
P
O
N
E
N
T
S

127

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

CLACK WS125CI 1”1/4 

Reference Code Description €

Clack WS125CI - 1”1/4

5302037851 V125CIDTE-M08* Clack  WS125CI - Chronometric - Downflow - With  mixing

5302034956 V125CIDME-M08* Clack  WS125CI - Volumetric - Downflow - With mixing

5302030071 V125CIUMD-M08* Clack WS125CI - Volumetric - Upflow - With mixing

5302034955 V125CIDME-08* Clack WS125CI - Volumetric - Downflow - Without mixing 

5302030049 V125CIBTZ-08* Clack  WS125CI - Filter

* With connections, DLFC, transformer and top distributor

Clack WS125EI - 1 “1/4                                                                                                                                                               

The price of the KIT Clack # 2 is no longer included in the price of the valve

If you do not need the KIT, please specify this on your order

The WS1 bypass (5303024075) can be used with the 1.25’’ valve

CLACK WS15CI 1”1/2

Reference Code Description €

Clack WS15CI - 1”1/2

5302034967 V15CIDTG-05* Clack  WS15CI - Chronometric - Downflow

5302034966 V15CIDMG-05* Clack  WS15CI - Volumetric - Downflow

5302030068 V15CIUMD-05* Clack  WS15CI - Volumetric - Upflow

5302034965 V15CIBTZ-05* Clack  WS15CI - Filter

* With transformer and standard DLFC 3/4’’ (without DLFC washer)

To order with the valve in function of the vessel:

5303022419 V3008-05 Straight Drain Connection, noryl 1’’ (without DLFC washers) Please specify the needed 

DLFC washers on your order 

- see page 1355303022421 V3079BSPT Drain connection, stainless steel 1,25" (without DLFC washers)

Clack WS15EI - 1"1/2                                                                                                                                                                  On demand

The price of the KIT Clack # 3 is no longer included in the price of the valve

If you do not need the KIT, please specify this on your order

Reference Code Description

Kit for Clack WS1.25 valve

0401998253 KIT Clack # 2 Bottom distributor 32mm Tube

Riser tube 32mm

Air Check 500A 915 Mm (36")

WS1 Nut 3/4” drain elbow For 5/8 x 1/2 Poly

Insert Polytube 5/8”

 

Reference Code Description

Kit for Clack WS1.5 valve

0401998254 KIT Clack # 3 Air Check 900

Riser tube D50x3.7 mm PN16 (L = 5m)

Top distributor 50mm

Kit Accessories 1700 With Cac 900



C
O
M
P
O
N
E
N
T
S

128

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK  

CLACK WS2CI 2”

Reference Code Description €

Clack WS2CI 2”       

5302038043 V2CIDTD-05* Clack  WS2 CI - Chronometric - Downflow 

5302038042 V2CIDMD-05* Clack  WS2 CI - Volumetric - Downflow 

5302038746 V2CIUMU-05* Clack  WS2 CI - Volumetric - Upflow

5302038039 V2CIDMD-18* Clack WS2 CI - Volumetric - Downflow - Quick Connect

5302038038 V2CIBTZ-05* Clack  WS2 CI - Filter

*With transformer and standard DLFC 3/4’’ (without DLFC washer)

To order in function of the vessel

5303022419 V3008-05 Straight Drain Connection, noryl 1’’ (without DLFC washers) Please specify the need-

ed DLFC washers on your 

order - see page 1355303022421 V3079BSPT Drain connection, stainless steel 1,25”  (without DLFC washers)

5303029018 V3080BSPT Drain connection, stainless steel 1,5” (without DLFC washers)

For Top Mounted Quick Connect Valves

5303028623 V3064 Threaded adapter 4’’ WS2

5303028617 V3055 Adapter with flange 6’’ WS2

For Side Mounted Valves

5303022264 V3260BSPT-02 Adapter for Side Mount 

Clack WS2EI - 2 "                                                                                                                                                                     

The price of the KIT Clack # 3 is no longer included in the price of the valve

If you do not need the KIT, please specify this on your order. The DLFC needs to be ordered separately 

 

CLACK WS3 - 3”

Reference Code Description €

Clack WS3 - 3”

5302037941 V3DTH-05 Clack  WS3 - Chronometric 

Clack  WS3 - Volumetric 

Order your WS3 volumetric valve as following: 

5302037941 Clack  WS3 - Chronometric 

5303021838 WS3 Meter 3” M x 3” F BSPT

For Top Mounted Valves

5303021699 V3090 Adapter With flange WS3 6”

For Side Mounted Valves

5303021700 V3674BSPT-02 WS3 Adapter for Side Mount BSPT

To order in function of the vessel 

5303022421 V3079BSPT Drain connection, stainless steel 1,25”  (without DLFC washers) Please specify the 

needed DLFC washers 

on your order 

- see page 135

5303029018 V3080BSPT Drain connection, stainless steel 1,5”  (without DLFC washers)

5303028615 V3051BSPT WS2 DLFC BSPT (without DLFC washers)

Reference Code Description

Kit for Clack WS2 valve

0401998254 KIT Clack # 3 Air Check 900

Riser tube D50x3.7 mm PN16 (L = 5m)

Top distributor 50mm

Kit Accessories 1700 With Cac 900



C
O
M
P
O
N
E
N
T
S

129

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

CLACK PALLAS CK

Reference Code Description €

Clack Pallas CK

5302032819 V1CKDMC-M46GH* Clack PALLAS CK - 1” - Volumetric With mixing - Downflow

5302032817 V1CKUMB-M03GH* Clack PALLAS CK - 1” - Volumetric With mixing - Upflow

5302032820 V1CKDMC-46GH* Clack PALLAS CK - 1” - Volumetric Without mixing - Downflow

V1CKUMB-03GH* Clack PALLAS CK - 1” - Volumetric Without mixing - Upflow

5302032821 V125CKDMF-M46GH* Clack PALLAS CK - 1.25” - Volumetric With mixing - Downflow 

V125CKUMB-M46GH* Clack PALLAS CK - 1.25” - Volumetric With mixing - Upflow

5302030056 V125CKDMF-46GH* Clack PALLAS CK - 1.25” -  Volumetric Without mixing - Downflow

V125CKUMB-46GH* Clack PALLAS CK - 1.25” - Volumetric Without mixing - Upflow

5302032822 V15CKDME-47GH* Clack PALLAS CK - 1.5” - Volumetric - Downflow

V15CKUME-47GH* Clack PALLAS CK - 1.5” - Volumetric - Upflow

5302032823 V2CKDMC-05GH* Clack PALLAS CK - 2” - Volumetric - Downflow

V2CKUMC-05GH* Clack PALLAS CK - 2” -  Volumetric - Upflow

5302033244 V2CKDTD-18* Clack PALLAS CK - 2’’ - Chronometric - Downflow - Quick Connect 

5302033243 V2CKDMD-18* Clack PALLAS CK - 2’’ - Volumetric - Downflow - Quick Connect

5302030037 VTT1CKDME-03GH* Clack PALLAS CK - 1’’ - Twin Controle - Downflow

5302030038 VTT1CKUME-03GH* Clack PALLAS CK - 1’’ - Twin Controle - Upflow

* 1’’ and 1.25’’ valves are delivered with connections, DLFC, transformer and top distributor 

  1.5’’ and 2’’ valves are delivered with transformer and standard DLFC 3/4’’ (without DLFC washer).  

  Please specify the needed DLFC washers on your order - see page 139

The price of the KIT Clack is no longer included in the price of the valve

If you do not need the KIT, please specify this on your order

Reference Code Description

Kit for Clack 1’’ valve

0401998252 KIT Clack # 1 Riser tube + Bottom distributor (140cm)

Air Check 500A 915 Mm (36")

WS1 Nut 3/4” Drain elbow For 5/8 x 1/2 Poly

Insert Polytube 5/8”

Kit for Clack 1.25’’ valve

0401998253 KIT Clack # 2 Bottom distributor 32mm Tube

Riser tube 32mm

Air Check 500A 915 Mm (36")

WS1 Nut 3/4” Drain elbow For 5/8 x 1/2 Poly

Insert Polytube 5/8”

Kit for Clack 1.5’’ & 2’’ valve

0401998254 KIT Clack # 3 Air Check 900

Riser tube D50x3.7 mm PN16 (L = 5m)

Top distributor 50mm

Kit Accessories 1700 With Cac 900



C
O
M
P
O
N
E
N
T
S

130

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

CLACK IMPRESSION 

Reference Code Description

Clack Impression Standard 

5302058539 CV1WQDMD-M48WR* Clack IMPRESSION - 1” - Volumetric With mixing - Downflow

5302058541 CV1WQUMD-M48WR* Clack IMPRESSION - 1” - Volumetric With mixing - Upflow

5302058538 CV1WQDMD-48WR* Clack IMPRESSION - 1” - Volumetric Without mixing - Downflow

5302058540 CV1WQUMD-48WR* Clack IMPRESSION - 1” - Volumetric Without mixing - Upflow

5302050020 CV125WQDME-M10WR* Clack IMPRESSION - 1.25” - Volumetric With mixing - Downflow 

CV125WQUME-M10WR* Clack IMPRESSION - 1.25” - Volumetric With mixing - Upflow

5302050018 CV125WQDME-10WR* Clack IMPRESSION - 1.25” - Volumetric Without mixing - Downflow

CV125WQUME-10WR* Clack IMPRESSION - 1.25” - Volumetric Without mixing - Upflow

5302050015 CV15WQDME-38WR* Clack IMPRESSION - 1.5” - Volumetric - Downflow

CV15WQUME-38WR* Clack IMPRESSION - 1.5” - Volumetric - Upflow

5302050016 CV2WQDME-38WR* Clack IMPRESSION - 2” - Volumetric - Downflow

CV2WQUME-38WR* Clack IMPRESSION - 2” - Volumetric - Upflow

5302057834 CV2WQDME-40WR* Clack IMPRESSION - 2’’ - Volumetric - Downflow - Quick Connect

Clack Impression Plus

5302050181 CV1WVDMD-M48* Clack IMPRESSION PLUS - 1” - Volumetric With mixing - Downflow

5302050182 CV1WVUMC-M48* Clack IMPRESSION PLUS - 1” - Volumetric With mixing - Upflow

5302050183 CV1WVDMD-48* Clack IMPRESSION PLUS - 1” - Volumetric Without mixing - Downflow

CV1WVUMD-48* Clack IMPRESSION PLUS - 1” - Volumetric Without mixing - Upflow

5302050184 CV125WVDMF-M48* Clack IMPRESSION PLUS - 1.25” - Volumetric With mixing - Downflow 

5302058799 CV125WVUMC-M48* Clack IMPRESSION PLUS - 1.25” - Volumetric With mixing - Upflow

5302050196 CV125WVDMF-48* Clack IMPRESSION PLUS - 1.25” - Volumetric Without mixing - Downflow

CV125WVUMF-48* Clack IMPRESSION PLUS - 1.25” - Volumetric Without mixing - Upflow

5302050150 CV15WVDME-38WR* Clack IMPRESSION PLUS - 1.5” - Volumetric - Downflow

5302058801 CV15WVUME-38* Clack IMPRESSION PLUS - 1.5” - Volumetric - Upflow

5302050194 CV2WVDME-38* Clack IMPRESSION PLUS - 2” - Volumetric - Downflow

5302050151 CV2WVUMB-38* Clack IMPRESSION PLUS - 2” - Volumetric - Upflow

5302050152 CV2WVDME-40WR* Clack IMPRESSION PLUS - 2” - Volumetric - Downflow - Quick Connect 

Clack Impression Pro

5302058536 CV1WMDMD-M10WR* Clack IMPRESSION PRO - 1” - Volumetric With mixing - Downflow

5302058537 CV1WMUMD-M10WR* Clack IMPRESSION PRO - 1” - Volumetric With mixing - Upflow

5302058531 CV1WMDMD-10WR* Clack IMPRESSION PRO - 1” - Volumetric Without mixing - Downflow

5302058535 CV1WMUMD-10WR* Clack IMPRESSION PRO - 1” - Volumetric Without mixing - Upflow

5302050043 CV125WMDME-M10WR* Clack IMPRESSION PRO - 1.25” - Volumetric With mixing - Downflow 

CV125WMUME-M10WR* Clack IMPRESSION PRO - 1.25” - Volumetric With mixing - Upflow

5302050026 CV125WMDME-10WR* Clack IMPRESSION PRO - 1.25” - Volumetric Without mixing - Downflow

CV125WMUME-10WR* Clack IMPRESSION PRO - 1.25” - Volumetric Without mixing - Upflow

5302050023 CV15WMDME-38WR* Clack IMPRESSION PRO - 1.5” - Volumetric - Downflow

CV15WMUME-38WR* Clack IMPRESSION PRO - 1.5” - Volumetric - Upflow

5302050024 CV2WMDME-38WR* Clack IMPRESSION PRO - 2” - Volumetric - Downflow

CV2WMUME-38WR* Clack IMPRESSION PRO - 2” - Volumetric - Upflow

5302057719 CV2WMDME-40* Clack IMPRESSION PRO - 2” - Volumetric - Downflow - Quick Connect

* 1’’ and 1.25’’ valves are delivered with connections, DLFC, transformer and top distributor

  1.5’’ and 2’’ valves are delivered with transformer and standard DLFC 3/4’’ (without DLFC washer). 

  Please specify the needed DLFC washers on your order - see page 139

The price of the KIT Clack is no longer included in the price of the valve

If you do not need the KIT, please specify this on your order

You can find the Kits on the previous pages of the Clack Valves



C
O
M
P
O
N
E
N
T
S

131

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

CLACK TOTALCARE 

Reference Code Description €

Clack Totalcare Standard 

5302050095 CV1WODMD-M46* Clack TOTALCARE - 1” - Volumetric With mixing - Downflow

5302050096 CV1WOUMB-M46* Clack TOTALCARE - 1” - Volumetric With mixing - Upflow

Clack TOTALCARE - 1” - Volumetric Without mixing - Downflow

Clack TOTALCARE - 1” - Volumetric Without mixing - Upflow

5302050097 CV125WODMD-M08* Clack TOTALCARE - 1.25” - Volumetric With mixing - Downflow 

Clack TOTALCARE - 1.25” - Volumetric With mixing - Upflow

Clack TOTALCARE - 1.25” - Volumetric Without mixing - Downflow

Clack TOTALCARE - 1.25” - Volumetric Without mixing - Upflow

5302050110 CV15WODME-38* Clack TOTALCARE - 1.5” - Volumetric - Downflow

Clack TOTALCARE - 1.5” - Volumetric - Upflow

5302050118 CV2WODME-38* Clack TOTALCARE - 2” - Volumetric - Downflow

Clack TOTALCARE - 2” - Volumetric - Upflow

5302050121 CV2WODME-40 Clack TOTALCARE - 2” - Volumetric - Downflow - Quick Connect

Clack Totalcare Plus

5302050173 CV1WYDMD-M46* Clack TOTALCARE PLUS - 1” - Volumetric With mixing - Downflow

5302050174 CV1WYUMC-M46* Clack TOTALCARE PLUS - 1” - Volumetric With mixing - Upflow

5302050175 CV1WYDMD-46* Clack TOTALCARE PLUS - 1” - Volumetric Without mixing - Downflow

Clack TOTALCARE PLUS - 1” - Volumetric Without mixing - Upflow

5302050176 CV125WYDMF-M48* Clack TOTALCARE PLUS - 1.25” - Volumetric With mixing - Downflow 

5302058803 CV125WYUMC-M48* Clack TOTALCARE PLUS - 1.25” - Volumetric With mixing - Upflow

Clack TOTALCARE PLUS - 1.25” - Volumetric Without mixing - Downflow

Clack TOTALCAREPLUS - 1.25” - Volumetric Without mixing - Upflow

5302050158 CV15WYDME-38* Clack TOTALCARE PLUS - 1.5” - Volumetric - Downflow

5302058805 CV15WYUME-38* Clack TOTALCARE PLUS - 1.5” - Volumetric - Upflow

5302050162 CV2WYDME-38* Clack TOTALCARE PLUS - 2” - Volumetric - Downflow

5302058806 CV2WYUMB-38* Clack TOTALCARE PLUS - 2” - Volumetric - Upflow

5302050166 CV2WYDME-40* Clack TOTALCARE PLUS - 2” - Volumetric - Downflow - Quick Connect 

Clack Totalcare Pro

5302050137 CV1WCDMD-M46* Clack TOTALCARE PRO - 1” - Volumetric With mixing - Downflow

5302050138 CV1WCUMD-M46* Clack TOTALCARE PRO - 1” - Volumetric With mixing - Upflow

5302050143 CV1WCDMD-46* Clack TOTALCARE PRO - 1” - Volumetric Without mixing - Downflow

5302050144 CV1WCUMD-46* Clack TOTALCARE PRO - 1” - Volumetric Without mixing - Upflow

5302050139 CV125WCDMD-M46* Clack TOTALCARE PRO - 1.25” - Volumetric With mixing - Downflow 

Clack TOTALCARE PRO - 1.25” - Volumetric With mixing - Upflow

5302050145 CV125WCDMD-03* Clack TOTALCARE PRO - 1.25” - Volumetric Without mixing - Downflow

Clack TOTALCARE PRO - 1.25” - Volumetric Without mixing - Upflow

5302050123 CV15WCDME-47* Clack TOTALCARE PRO - 1.5” - Volumetric - Downflow

Clack TOTALCARE PRO - 1.5” - Volumetric - Upflow

5302050127 CV2WCDME-38* Clack TOTALCARE PRO - 2” - Volumetric - Downflow

Clack TOTALCARE PRO - 2” - Volumetric - Upflow

5302050166 CV2WYDME-40* Clack TOTALCARE PRO - 2” - Volumetric - Downflow - Quick Connect

* 1’’ and 1.25’’ valves are delivered with connections, DLFC, transformer and top distributor 

  1.5’’ and 2’’ valves are delivered with transformer and standard DLFC 3/4’’ (without DLFC washer). 

  Please specify the needed DLFC washers on your order - see page 139

The price of the KIT Clack is no longer included in the price of the valve

If you do not need the KIT, please specify this on your order

You can find the Kits on the previous pages of the Clack Valves



C
O
M
P
O
N
E
N
T
S

132

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

CLACK TWIN 1’’

Reference Code Description €

5302033287 VTT1CIDME-03* Twin Controle valve 1’’ - Timer CI Downflow

5302033422 VTT1CIUMC-03* Twin Controle valve 1’’ - Timer CI Upflow

Option

5303020169 V4099 Mixing externe 

The Twin Clack valve is also available in Impression Standard, Plus and Pro versions (On demand) 

* Twin Clack valves are delivered with connections, DLFC, transformer and top distributors

CLACK DUPLEX SYSTEMEN

Reference Code Description €

Duplex system WS1 - 1”

Consists oR : • 2 x WS1 valve + Kit

• 2 x WS1 Bypass + Vertical adapter (5303024075 + 5303024087)

• 1 x Alternating valve 1/125 M-M (5303029141)

Duplex system WS125 - 1”1/4

Consists oR : • 2 x WS125 valve + Kit

• 2 x WS1 Bypass + Vertical adapter ( 5303024075 + 5303024087)

• 1 x Alternating valve 1/125 M-M (5303029141)

Duplex system WS15 - 1”1/2

Consists oR : • 2 x WS15 chrono valve + Kit

• 1 x Alternating valve 1,5 Bspt REV 2 (5302036536)

• 1 x WS1,5 Meter Bspt 4,5 Meter (5303021165)

• excl. DLFC

Duplex system WS2 - 2”

Consists oR : •   2 x Valve WS2 Time + KITS

• 1 x WS2 Meter Bspt 4,5 Meter (5303028744)

• 1 x Alternating valve Bspt (5303022418)

• excl. DLFC

Duplex system WS3 - 3”                                                                                                                                                        

Reference Code Description

Kit for Clack TWIN valve

0401990102 KIT Clack # 4 Riser tubes + Bottom distributors (140cm)

Air Check 500A 915 Mm (36")

WS1 Nut 3/4” Drain elbow For 5/8 x 1/2 Poly

Insert Polytube 5/8”



C
O
M
P
O
N
E
N
T
S

133

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

SPARE PARTS FOR CLACK VALVE

Reference Code Description €

Top distributors

0208010010 Top distributor 1”

0208012226 Top distributor 32mm

5303029024 Top distributor 50mm

Drive gear 

5303025074 V3110 Drive gear 12x36

Electronic board 

5303025070 V3108CI-BOARD Electronic board for CI 

5303021098 V3242-01BOARD Electronic board for WS3

5303011166 V3408EI-02 BOARD Electronic board for EI

5303010004 V3813WQ-BOARD Electronic board for Impression

5303020133 V4022WV-01 Electronic board for Impression Plus

5303010037 V3502WD-03 Electronic board for Impression Pro / Evolve

5303010036 CV3851WO-BOARD Electronic board for Totalcare

5303020134 V4062WY-01 Electronic board for Totalcare Plus

5303010047 CV4050WC Electronic board for Totalcare Pro

5303020117 V3757CK-02BOARD Electronic board for Pallas CK

5303027166 V3655CV-BOARD Electronic board for Flamingo

5302034366
Complete controller for Flamingo  

Please specify the colour, the language and the number of liters of resin

5302034361 V3653HM Remote display for Flamingo

Transformer

5303024085 V3186EU Transformer 220-240V 12V EU

5303017238 CV3526EU Transformer 220/15VDC for Pro and Evolve valves

5302034908 V3461EU Transformer WS3 24V EU

Seals and spacers kit 

5303025054 V3005 Seals and spacers kit WS1 

5303028213 V3430 Seals and spacers kit WS125 & WS15

5303021707 V3729 Seals and spacers kit WS2

5303020063 V3092 Seals and spacers kit WS3

Piston

5303025064 V3011 Piston Downflow WS1 

5303025065 V3011-01 Piston Upflow WS1 

5303028210 V3407 Piston Downflow WS125 & WS15

5303020126 V4042 Piston Upflow WS125 & WS15

5303021703 V3725 Piston Downflow WS2

5303020129 V4059 Piston Upflow WS2

5303020062 V3666-01 Piston Downflow WS3

Brine valve

5303025104 V3174 Brine valve WS1, WS125 & WS15

5303021704 V3726 Brine valve WS2

5303021095 V3238-01 Brine valve WS3



C
O
M
P
O
N
E
N
T
S

134

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

SPARE PARTS FOR CLACK VALVE

Reference Code Description €

Injector 

5303024111 V3010-1A WS1 Injector Ass. A Black

5303024112 V3010-1B WS1 Injector Ass. B Brown

5303024113 V3010-1C WS1 Injector Ass. C Purple

5303024114 V3010-1D WS1 Injector Ass. D Red 

5303024115 V3010-1E WS1 Injector Ass. E White

5303024116 V3010-1F WS1 Injector Ass. F Blue

5303024117 V3010-1G WS1 Injector Ass. G Yellow

5303024118 V3010-1H WS1 Injector Ass. H Green

5303024119 V3010-1I WS1 Injector Ass. I Orange

5303024120 V3010-1J WS1 Injector Ass. J Light Blue 

5303024121 V3010-1K WS1 Injector Ass. K Light Green 

5303024122 V3010-1K WS1 Injector Ass. Z Stop

5303028202 V3010-1.5B WS1.5 Injector Ass. B Violet 

5303028204 V3010-1.5C WS1.5 Injector Ass. C Red 

5303028205 V3010-1.5D WS1.5 Injector Ass. D White

5303028206 V3010-1.5E WS1.5 Injector Ass. E Blue 

5303028207 V3010-1.5F WS1.5 Injector Ass. F Yellow 

5303028208 V3010-1.5G WS1.5 Injector Ass. G Green

5303028652 V3010-1.5H WS1.5 Injector Ass. H Orange

5303029313 V3010-15Z WS1.5 Injector Ass. Z Stop

5303020026 V3010-2R-15B WS2 Injector Ass. R Violet

5303020027 V3010-2S-15C WS2 Injector Ass. S Red 

5303020028 V3010-2T-15D WS2 Injector Ass. T White

5303020029 V3010-2U-15E WS2 Injector Ass. U Blue

5303021065 V3010-2A WS2 Injector Ass. A Black

5303021066 V3010-2B WS2 Injector Ass. B Black

5303021067 V3010-2C WS2 Injector Ass. C Black

5303021068 V3010-2D WS2 Injector Ass. D  Black

5303021069 V3010-2E WS2 Injector Ass. E Black

5303021070 V3010-2F WS2 Injector Ass. F Black

5303021071 V3010-2G WS2 Injector Ass. G Black

5303021072 V3010-2H WS2 Injector Ass. H Black

Meter 

5303025051 V3003 WS1 & WS125 Meter

Meters for other valves - see page 136

Motor

5303025068 V3107-01 Motor

Connections

5303024082 V3007-06 1’’ PVC connection BSPT

5303020009 V3007-16 1’’ PVC connection BSPT elbow

5303026540 V3007-14 3/4’’ PVC connection BSPT

5303024081 V3007-08 1.25’’ PVC connection BSPT



C
O
M
P
O
N
E
N
T
S

135

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK 

SPARE PARTS FOR CLACK VALVE

Reference Code Description €

Washer DLFC 

5303024093 V3162-013 WS1 DLFC 013 (1,3 gpm) 3/4’’

5303024094 V3162-017 WS1 DLFC 017 (1,7 gpm) 3/4’’

5303024095 V3162-022 WS1 DLFC 022 (2,2 gpm) 3/4’’

5303024096 V3162-027 WS1 DLFC 027 (2,7 gpm) 3/4’’

5303024097 V3162-032 WS1 DLFC 032 (3,2 gpm) 3/4’’

5303024098 V3162-042 WS1 DLFC 042 (4,2 gpm) 3/4’’

5303024099 V3162-053 WS1 DLFC 053 (5,3 gpm) 3/4’’

5303024100 V3162-065 WS1 DLFC 065 (6,5 gpm) 3/4’’

5303024101 V3162-075 WS1 DLFC 075 (7,5 gpm) 3/4’’

5303024102 V3162-090 WS1 DLFC 090 (9,0 gpm) 3/4’’

5303024103 V3162-100 WS1 DLFC 100 (10,0 gpm) 3/4’’

5303024104 V3190-100 WS1 DLFC 100 (10,0 gpm) 1’’

5303024105 V3190-110 WS1 DLFC 110 (11,0 gpm) 1’’

5303024106 V3190-130 WS1 DLFC 130 (13,0 gpm) 1’’

5303024107 V3190-150 WS1 DLFC 150 (15,0 gpm) 1’’

5303024108 V3190-170 WS1 DLFC 170 (17,0 gpm) 1’’

5303024109 V3190-200 WS1 DLFC 200 (20,0 gpm) 1’’

5303024110 V3190-250 WS1 DLFC 250 (25,0 gpm) 1’’

Other spare parts

5303025043 H4650 Elbow 1/2” With nut and insert

5303025041 H4615 Clip for Elbow

5303024122 V3010-1Z Injector stop

5303024090 PKP10TS8-BULK Insert polytube

5303025100 V3165-01 WS1 Refill Flow Control Retainer

5303024088 V3192 WS1 Nut 3/4’’ Drain Elbow (in 5/8 x 1/2 PE)

5303020036 V3498 Brine elbow for 12mm tubing

ACCESSORIES FOR CLACK VALVE
 

Reference Code Description €

Bypass

5303024075 V3006 Bypass 

5303024087 V3191-01 WS1 Vertical Bypass Adapter

Alternating valve for duplex

5303029140 V3069FF-01 Alternating valve WS1 & WS1.25 (Female x Female)

5303029141 V3069MM-01 Alternating valve WS1 & WS1.25 (male x male)

5302036536 V3071BSPT Alternating valve WS1.5

5303022418 V3076BSPT Alternating valve WS2 

5303021840 V3083BSPT Alternating valve WS3



C
O
M
P
O
N
E
N
T
S

136

CHAPTER 1 VALVES & ACCESSORIES

1. CLACK  

No Hard Water Bypass (No hard water during regeneration)

5303020764 V3070FF NHWBP WS1 & WS1.25 (Female x Female)

5303020765 V3070FM NHWBP WS1 & WS1.25 (Female x male)

5303020095 V3097BSPT NHWBP WS1.5 (male x Female)

5303020096 V3098BSPT NHWBP WS2 (male x Female)

5303020097 V3099BSPT NHWBP WS3 (male x Female)

DLFC

5303020037 V3331 DLFC Elbow  3/4" for WS1 - WS1.25 - WS1.5

5303024083 V3008-02 DLFC 1" for WS1 - WS1.25 - WS1.5

5303022421 V3079BSPT Drain connection, stainless steel 1,25” 

5303029018 V3080BSPT Drain connection, stainless steel 1,5” 

5303022419 V3008-05 Straight Drain Connection, noryl 1’’ (without DLFC washers) Please specify the 

needed DLFC  

washers on your 

order - see page 135

5303028615 V3051BSPT WS2 DLFC BSPT (without DLFC washers )

5303021837 V3764BSPT WS3 DLFC 3” BSPT (without DLFC washers)

Water Meters

5303028611 V3040BSPT Meter WS1.5 BSPT

5303021165 V3040BSPT-15 Meter WS1.5 BSPT - With cable 4,5 m

5303020085 V3050BSPT Meter WS2 BSPT

5303028744 V4088BSPT-15 Meter WS2 BSPT - With cable 4,5 m

5303021838 V3095BSPT-15 WS3 Meter 3” M x 3” F BSPT With cable 4,5m

Chlorinators

5303020347 Chlorinator for Clack / Impression (card + switch)

5303017112 CV3395 Chlorinator for Evolve-Impression Pro

Kit relay 

4001003307 Kit Relay for Clack valve

System controller 

5303020084 V3030DC-01 System Controller (controller for duplexsystemen) see page 42

5303021059 V3475-12 WS2 System Connection Cord 12 red

5303021060 V3475-24 WS2 System Connection Cord 24 blue

5303021061 V3475-36 WS2 System Connection Cord 36’ yellow

Configurator

5303019045 V3514 Clack Configurator

Other accessories

5303024084 V3009 Auxiliar microswitches for timer WS1, WS125 & WS15

5303020005 V3017 Auxiliar microswitches for timer WS2

5303028632 V3193-02 Clack wrench


